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D 350m? =35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg
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® 3700a = 37ha
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® 100m x 3000 cm = 3000 m? = 0.3 ha
B>0>@®>20>06




@® 3kg=3000g @ 4t =4000000g

(@)5.51: = 55000000 g @ 6t = 6000kg

® 120t = 120000 kg

@ 5.5t = 5500 kg = 5500000 g
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D21.6+6=36
@ 27.36 + 8 = 3.42
® 15.28 + 4 = 3.82
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®195+5=39
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26 x 250 = 6500(kg) = 6.5(t)
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5t = 5000 kg

Attt 100 “g2Fe] FA] ¢ 30 x 100 = 3000( kg)
vl 50 AFAFO] B 1 5000 — 3000 = 2000( kg)
Bl 1 AFAke] BA 2000 + 50 = 40( kg)
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=90 x 40 + 2 = 1800m? = 18a
25.2t = 25200kg

1a2] F7| = 25200 + 18 = 1400kg
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= 800x(%°])+2 = 640000 m?

(=°])= 640000 x 2+800 = 1600( m)
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= (1800 + 800) x 1600 + 2 = 2080000( m?)
2080000 m? = 20800a = 208 ha
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